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QUESTION 1

Which improvement does ArubaOS 8 offer for the Client Match feature? 

A. It checks the compliance posture for Bring Your Own Device (BYOD) endpoints to improve security. 

B. It enables the application of unique CM rules for specific client types. 

C. It checks client behavior against a wider array of rules to detect more DoS attacks and intrusion attempts. 

D. It offloads client load balancing decisions to local controllers. 

Correct Answer: D 

 

QUESTION 2

A company has an Aruba solution that is monitored by AirWave. Several users have recurring connectivity and
performance issues with their wireless clients. 

How can network administrators use AirWave to minitor these clients more easily? 

A. Specify the clients as Watched Cliesnts and view the tables and graphs for these clients. 

B. Click the Down icon in the Airwave banner to quickly see a list of issues with client connections. 

C. Use the Client > Tags windows to tag the client for periodic checks and analysis. 

D. Run Device Summary reports and filter for the client MAC addresses within the report. 

Correct Answer: B 

 

QUESTION 3

A network administrator creates an employee WLAN on an Aruba solution that uses WLAN WPA2Enterprise security
and an external RADIUS server. When the administrator tests the WLAN, the test client receives limited connectivity
and cannot access any resources, but the RADIUS server shows that the user authenticated successfully. 

What should the administrator check as a possible source of this issue? 

A. the connectivity between the AP that the client is associated to and the MC 

B. the firewall role and policy that apply to this user 

C. the certificate on the RADIUS server 

D. the connectivity between the Master Controller (MC) for the client and the RADIUS server 

Correct Answer: B 
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QUESTION 4

What is an example of a Layer2 wireless threat that a wireless intrusion detection system (WIDS) should detect? 

A. 802.11 association floods 

B. RF jamming 

C. Bluetooth interference 

D. spyware 

Correct Answer: A 

 

QUESTION 5

A company has a Mobility Master (MM)-based solution. A network administrator wants to monitor data transfer speed
ranges of all currently connected clients. 

Which dashboard page in the MM interface should the administrator visit? 

A. Security 

B. Performance 

C. Traffic Analysis 

D. Network 

Correct Answer: B 
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